
1) $300.00 earning 8.6% compound 
interest for 10 years.

Answer: ____________

2) 340 ÷ 17

Answer: ____________

3) 1.3 x 18

Answer: ____________

4) Find perimeter of 
square having each side 
(s) equals 64 m

Answer: ____________

5) Find area of square 
having each side (s)
equals 58 cm

Answer: ____________

6) Decrease 10 by 50%

Answer: ____________

7) Round 27.84928567 to the nearest 
1000

Answer: ____________

8) (-18) ÷ 6

Answer: ____________

9) (-18) ÷ 6

Answer: ____________

10) Find the mean of the following set of data:

8, 10, 12, 0.3, 12

Answer: ____________

Total: ___ / 10
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Answers:

1) $684.57 2) 20 3) 23.4 4) 256m 5) 3364cm 6) 5 7) 27.849

8) -3 9) -3 10) 8.46
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